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m Exercises, pp. 224225 (continued)

i

@ Exercises, pp. 224-225

1.
3
5
1 3

15.

19.

1. 3
23. 1

25.
27.

35.
37.
39.

2% hr
2

5

14
jor2}
11sp

80

-6
1

[
P
3th
e 3
1% %5— or "8?’
14 2
16.
18. 18
20. 3
n 3or1d

. ppN

|
ol

32. 12
34, %—5-or 17%
36. Y or a2
38, -3
40. _—236- ore%
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411
43. 5

1
45. 245 b

1.
47. ”3 mi
49. A

42. 3
44. 3

46. a. 90 students
b. 74 students
€. 50 students

x.
48. 932 in.

50. Anytime you multiply a positive number by a number
between 0 and 1, you get an answer that is smaller than
the number you started with.

51. Possible answer: 1 - %, 2.
52. 5.4 x 104

54, 8.63 x 102

56, 2

58. D

Copyright S by Hoi. Binshart and Winskon.

81

15,1

202 2
53. 3.43 x 106
58, 27
57. 60
59. G

CHAPTER 4 ANSWERS ‘
 CHAPTER 4 ANSWERS . ,

@ Exercises, pp. 228-229 (continued)

{

@ Exercises, pp. 228-229

1.18
33

s jori}
7. 3 capes
9. 18

1. 2or33
13. 3

8. 3
3

1 Zor3gy
11. G pieces
B3

23. Qorsg
21. &

29. 12

n 12

21
33. 2 or 10}
4
35. -3
37. 34} mi

39, 42 side pieces

Coprigt © by Hok, Rinshuet and Weman,

24
o

6.2

8 Lor2?
10.
12. 55
14 3

16. & ors}

18 Porizj

26, 17 bottles

7 A 251 or 5%

24, 2

16 %

28 Jor 12

%

nl

3. 1

36, —1

38. 87 hamburger patties
40. % foot or 11 in.
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a1, n% hours

42. 7 circles

43. Yes. Thelare are 9 letters in Alexandra. 7} + 31 = 2} and
18 + 33 = 57, 50 she can make 2 rows with 5 letters each.

44. 2 -3 .17
46. 2-3 .52
48. )

2
P o Hon, Ratast and Wineioh

43 2%.5
4. B

Holt Middis Schosl Math  Courss 2
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. CHAPTER 4 ANSWERS , CHAPTER 4 ANSWERS ,

@ Exercises, pp. 212-213 @ Exercises, pp. 212-213 (continued)
1. 09 2. -35 41. 253.2 42, 3,201.9
3 46 4. 53 43. 27 44. 2,500 years
5. -32 6 1224 45. 240 days 46. 11 years
1. 25 8. 35 47. 202.228 m 48. 363.64 days
9. —16 10. -20 49. 1974 56 2.3
11. 4.8 12. 225 51.23. 11 52. 22.23
13. 28 mi/gal 14. 2,709 53, 32. 52 54, -1.26
18, -0.12 16. -7 55. -3.328 56. 150.12
{ 17. ~14 18. 10.7 ( 57. 0.4806 58. C
19. 42 20. -14 59. ]
21. 475 22. 15
2% 4 24, 56
28. -48.75 26. 19 mi/gal
27. 2.4 min 28. -75
29. 225 30. 0.6
31. ~04 32. -1.05
33. 25 34. -33
35. 59 36. 8.3
37. 16 38. 5.52
39. -5.8 40. 08 !
SoPTAHS  Hon. Fnanat s Wision. 76 Holt Middle School Math  Course 2 ; Comyrign © o o, Pinenar 0 Wisioe ka4 Holt Middle School Math  Course 2
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@ Exercises, pp. 216-217 @ Exercises, pp. 216—217 (continued)
L.w=7 2L x=1785 :
5 k= 2000 o n= 2125 40. $171 a1. 7.14 g/cmd .
42. Possible answer: The student subtracted 0.63 on the side of
5. b=504 6 x =576 the equation with the variable but added 0.63 on the side
7.t=9 Ly=15 with 5 instead of subtracting; m = 4.37.
8. $4.25 10. v = 5.16 43. Possible answer: How many inches is 16.51 cm?
o aase 12 d= —o65 16.51 = 2.54x; X = 6.5 in.
13. a = 5.08 14 w = 2161 48.b=-1.14 4.6
15. p = ~53.21 18. c=25 a6. 46 4. 3
1.2 =16 18 x=-57 48. 397 "3 3';5
19. w=1176 20. m =228 %6. -6,-09, -3 2T
21. g = -74.305 22. $1.25 52. A el
23, $7.50 M. y=—12
25. n = —-4.92 26. w= -09
27.r =072 28 x = 21
29.m = -0.15 30. g = ~711
31. k=09 32, h = —4.402
33. t = 0936 34. d=-48
35 v= -2 36, k = —287658
31. n = 12254 38. 120 tubs

39. a. 148.1 million
b. Between ltalian and English

SR 20y MR Fineret anc Wioston: 78 Holt Middie School Math  Course 2
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@ Exercises, pp. 204—-205 (continued)

@ Exercises, pp. 204-205

1. -36

3. 0.18

5. 1.04

7. 334.7379 miles
9. 0.35

11. 294

13. 90.73

15. 4.48

17. -0.1542
19. —40.945
21. 5.445 miles
23. 0.0021
25. —-0.0876
27. 1.911
29. -0.7728
31. 21.5124
33. —83.538
35. —6,692.985

37. a. About 47 million people
b. About 60 million people

38. 28.95 in. of mercury

oot by Hok, Rinehast ard Wreion 72

2. 06

4. 2.04

6. —0.315
& 48

10. —-8.1

12. -20.4
14. 768

16. 24.38
18. -9.256
20. 284.4 km
22. 1968
24. 0432
216. —488.85
28. 0.351
30. -8.904
32. -0.027
34. 1,224.1152
36. $319.63

Holt Middie Schoo! Math Courss 2

CHAPTER 4 ANSWERS

@ Exercises, pp. 208-209

1. 6.14

3. -3.09
5. 0.017
7. 554
9. -89
11, —8.92
13. —-4.8
15. 2.04
17. 1.13
19. -3.07
21. 39.75
23. 1.56
28. 4.19
27. -28
29. -1.91
31. -0.019
33. 649
35. 1.44
37. —262.113
39. 93.295

5 by Holt, Panhint anct Winwion.
i iy

2. 3.06
4. —2.56

6. 0.234

8. 3.2

10. 4.86

12. 06

14. 0.018

16. ~0.019

18. 0.037

20. 1.15 minutes
22. 192.972 mi/h
24, 3.7

26. 0.07

28. -1.05

30. 3.06

32. 2.57

34. 0.08

36. 4.25

38. -0.025

40. $22.79

74 Holt Middie School Math  Course 2

39. Possible answer: What is the total mass of the rocks in the

collection?

40. They are the same: 2.408, Possible answer: The factors
differ only in the placement of the decimal points.
However, the product has the same number of digits after

the decimal point.
41. 0.00032
43. 35
45. -25
47. -24
49. H

42. 9
44. 7
46. -16
48. A

CHAPTER 4 ANSVWERS

@ Exercises, pp. 208—-209 (continued)

41. 14.53 million people

43. 372.33

42. 21810b

44. Possible answer: It costs $12.95 for 5 pounds of mixed
nuts. What is the cost of 1 pound of mixed nuts?

45. Possible answer: The division process is the same. You
must remember to place the decimal point in the quotient

when dividing decimals by integers.
48 -0.0033 47. -5
48 7 49, 38
58. 32 51, -23
52. 58 53. 31
54. -14 55 A
56. G

e 5 Dy HoR, Pinehant o
frges bt .
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